Rechenkastchen
Ubungen

Erganze die Rechenkastchen.

1547 |- 459 |=| 88 | 772]- 750 =
336 |- 268 = 68 | 752 - [a77 =
211 0
471)-1206 = | 1552 |- 472 =
357 - [125)=] | 440 - 368
0 0
1902 |-348/= | 1885 -| 568 |=
277|242 404]-[200 =
0 0
4471-1438|= | 972]- 815 =
266 |- 186 =] 614 - 351 =]
0 0
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Rechenkastchen
Lésungen

Erganze die Rechenkastchen.

1547 |- 459 |= 88 |
336 |-[ 268 1=/ 68
2] [191]

| 471-| 206 |=| 265 |
3&7 - 1&5:232
1902 |- 348 |= 554
277 - 242=35 |
447 - 438 = 9 |
266 - 186 =/ 100
Ii‘l =

772|750 |=| 22 |
752 |-[477 1= 275
1552|1472 |= 80 |
440 - 368 =] 72 |
(112 (108

1885 - 568 = 317
404 - 209 1= 195
1972|-| 815 |=/ 157 |
614 |-[ 351 1= 263
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